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- THR4A HARA SEAN BEHE HARA SEA HARA SEA HARA SEA it

1 H T 668 33 4 705 542 18 560 561 21 582 1,103 39 1,142
10 R T 369 4 1 374 326 3 329 344 3 347 670 6 676
20 A [’ H 2,036 62 19 2,117 1,829 46 1,875 1,784 41 1,825 3,613 87 3,700
3B — F 498 14 3 515 493 8 501 530 11 541 1,023 19 1,042
40 K F T # 16 0 0 16 18 0 18 16 0 16 34 0 34
45 ¥ # H 610 26 7 643 630 24 654 645 17 662 1,275 41 1,316
48 I um  HT 1,581 57 20 1,658 1,528 80 1,608 1,684 70 1,754 3,212 150 3,362
50 K i HT 1,541 49 5 1,595 1,440 33 1,473 1,416 39 1,455 2,856 72 2,928
60 XK % H 1,076 24 6 1,106 979 24 1,003 1,025 21 1,046 2,004 45 2,049
70 XK & H 746 30 3 779 667 21 688 639 18 657 1,306 39 1,345
80 T 528 19 8 555 571 18 589 596 20 616 1,167 38 1,205
1010 1iE A T 500 19 3 522 393 12 405 417 12 429 810 24 834
1020 £ ¥ 0O H 1,943 86 14 2,043 1,788 63 1,851 1,864 46 1,910 3,652 109 3,761
1030 5 H 1,064 94 6 1,164 858 68 926 934 41 975 1,792 109 1,901
1060 K F dt B 55 0 0 55 52 0 52 57 0 57 109 0 109
1061 4t B ¥ H 4 0 0 4 5 0 5 6 0 6 11 0 11
1065 4t 5 H 587 21 3 611 582 25 607 653 10 663 1,235 35 1,270
1011 EMHBE1TEH 85 8 0 93 71 8 79 88 0 88 159 8 167
1072 FfMBE2TH 670 24 4 698 716 24 740 656 17 673 1,372 41 1,413
1073 R HBE3TEH 1,022 41 6 1,069 996 39 1,035 991 29 1,020 1,987 68 2,055
1074 R HBE4TEH 146 3 4 153 171 4 175 153 5 158 324 9 333
1076 JtFEFMBE1TH 691 26 5 722 631 23 654 735 12 747 1,366 35 1,401
1077 JtEFBE2TH 540 16 7 563 492 19 511 570 25 595 1,062 44 1,106
1078 Jdt=FHEI3TH 414 12 4 430 457 14 471 457 24 481 914 38 952
1080 Jt & KX H 609 45 6 660 607 43 650 531 21 552 1,138 64 1,202
1091 & ¥ H 515 49 5 569 484 48 532 531 19 550 1,015 67 1,082
1095 £ ¥ # H 115 9 1 125 114 121 94 3 97 208 10 218
1100 = f& H 849 15 4 868 634 641 688 14 702 1,322 21 1,343
1110 3* BT 655 11 3 669 532 540 584 9 593 1,116 17 1,133
2000 3 T 1,543 60 12 1,615 1,242 48 1,290 1,177 38 1,215 2,419 86 2,505
2000 F A H H 945 28 10 983 892 33 925 939 24 963 1,831 57 1,888
2020 /v B&  HT 1,314 50 12 1,376 1,125 38 1,163 1,156 42 1,198 2,281 80 2,361
2030 ¥ ¥ H 1,593 74 23 1,690 1,267 62 1,329 1,330 51 1,381 2,597 113 2,710
2040 H# O OF H 1,514 47 11 1,572 1,232 17 1,249 1,370 51 1,421 2,602 68 2,670
2050 T 5 H 684 30 3 717 664 20 684 665 18 683 1,329 38 1,367
2051 = 1T H 78 12 1 91 65 10 75 51 3 54 116 13 129
2062 ™ = 2 T B 269 9 2 280 228 5 233 229 6 235 457 11 468
2053 = 3T H 273 7 6 286 300 10 310 285 9 294 585 19 604
2004 ™ = 4 T B 60 1 0 61 44 1 45 49 0 49 93 1 94
2006 M = 5 T B 411 15 4 430 384 13 397 394 14 408 778 27 805
2006 ™M = 6 T B 165 12 2 179 159 2 161 148 13 161 307 15 322
2060 i B HT 755 39 6 800 688 37 725 647 18 665 1,335 55 1,390
2075 T B {K HT 630 34 2 666 678 40 718 704 31 735 1,382 71 1,453
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2081 & 88 1 T H 221 19 0 240 190 21 211 192 2 194 382 23 405
2082 & 8 2 T H 268 4 2 274 306 6 312 305 6 311 611 12 623
2083 & 88 3 T H 522 14 6 542 493 14 507 532 17 549 1,025 31 1,056
2084 & 88 4 T H 651 44 8 703 633 47 680 639 24 663 1,272 71 1,343
2000 X & @ H 1,652 105 10 1,767 1,355 59 1,414 1,336 65 1,401 2,691 124 2,815
2106 & K H 178 4 2 184 177 5 182 189 4 193 366 9 375
2110 + H ® 1,237 135 13 1,385 1,154 153 1,307 1,251 128 1,379 2,405 281 2,686
2120 + H # H 1,443 119 29 1,591 982 120 1,102 1,318 132 1,450 2,300 252 2,552
3000 H H BT 963 5 5 973 935 6 941 960 6 966 1,895 12 1,907
3010 = 1 T 788 22 3 813 636 16 652 719 16 735 1,355 32 1,387
3020 ® @ fg HT 1,027 37 7 1,071 846 27 873 940 20 960 1,786 47 1,833
3030 % =) i) 184 8 4 196 145 11 156 145 6 151 290 17 307
4000 T 547 17 2 566 497 18 515 489 17 506 986 35 1,021
4020 X F % 0O 23 0 0 23 11 0 11 20 0 20 31 0 31
4030 % BT 1,905 66 13 1,984 1,502 52 1,554 1,616 54 1,670 3,118 106 3,224
5000 k& BT 756 12 1 769 637 13 650 695 11 706 1,332 24 1,356
5010 ¥ R HT 499 32 13 544 427 30 457 469 21 490 896 51 947
5013 R I im HT 458 15 5 478 489 19 508 488 18 506 977 37 1,014
5015 R H T 333 45 3 381 365 46 411 345 4 349 710 50 760
5022 U A2 B Hr 438 14 3 455 461 13 474 461 7 468 922 20 942
5025 it H T 1,591 61 15 1,667 1,539 58 1,597 1,531 36 1,567 3,070 94 3,164
5040 &  JIl T 517 17 6 540 442 12 454 440 16 456 882 28 910
5045 F H T 578 16 5 599 629 11 640 599 13 612 1,228 24 1,252
5050 & T 1,798 61 10 1,869 1,479 54 1,533 1,430 46 1,476 2,909 100 3,009
6000 #2 = T 123 2 1 126 96 2 98 70 2 72 166 4 170
6005 % &  H 165 6 6 177 183 8 191 174 7 181 357 15 372
6010 il w T 1,290 37 9 1,336 1,089 35 1,124 1,210 15 1,225 2,299 50 2,349
6011 =YV E1TBH 677 6 7 690 693 7 700 747 9 756 1,440 16 1,456
6012 =V E2TBH 698 21 2 721 619 18 637 656 13 669 1,275 31 1,306
6013 =Y BE3TH 428 10 1 439 417 9 426 419 5 424 836 14 850
6014 =Y E4TH 496 7 4 507 519 9 528 501 10 511 1,020 19 1,039
6015 =Y E5TH 891 91 7 989 839 70 909 731 56 787 1,570 126 1,696
6016 =Y E6TH 712 47 11 770 596 44 640 722 61 783 1,318 105 1,423
6025 B B O M 834 14 4 852 778 12 790 887 7 894 1,665 19 1,684
6030 &= ¥  H 831 36 6 873 665 29 694 651 20 671 1,316 49 1,365
6040 &= Bl HT 464 21 2 487 419 20 439 424 430 843 26 869
6050 [q] = i) 575 14 0 589 464 11 475 481 488 945 18 963
6060 JT T 1,441 41 15 1,497 1,189 28 1,217 1,271 38 1,309 2,460 66 2,526
7000 #i0 T 723 42 8 773 576 27 603 651 26 677 1,227 53 1,280
7010 #j0 H T 851 37 5 893 746 20 766 861 23 884 1,607 43 1,650
8000 K F #& i 3 0 0 3 3 0 3 2 0 2 5 0 5
8100 f& H T 1,113 98 7 1,218 996 92 1,088 1,043 89 1,132 2,039 181 2,220
=1 61,259 2,617 505 64,381 54,791 2,275 57,066 57,003 1,929 58,932 111,794 4,204 115,998




